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QUESTION 1

An administrator needs to create a health check that will mark an HTTP service down if the bound monitor probe
exceeds 40 milliseconds.

How can the administrator create the monitor for this health check using the command line interface?
A. set mon monitor-HTTP-1 HTTP -interval 40 milli

B. add Ib mon monitor-HTTP-1 HTTP -interval 40 milli

C. set mon monitor-HTTP-1 HTTP -resptimeout 40 milli

D. add Ib mon monitor-HTTP-1 HTTP -resptimeout 40 milli

Correct Answer: D

QUESTION 2

Scenario: An administrator has set up the configuration of an HA pair so that each NetScaler appliance has four
connected interfaces. In addition, two pairs of interfaces for each appliance are configured in a link aggregation
channel.

Which two additional steps should the administrator take to set up HA? (Choose two.)

A. Configure a route monitor on the NetScaler.

B. Disable the interfaces that are not connected.

C. Enable HA monitoring on the physical interfaces only.

D. Enable HA monitoring on the link aggregation channel.

Correct Answer: BD

QUESTION 3

Which three components does an administrator have to configure in order to establish a basic content switching setup?
(Choose three.)

A. GSLB sites

B. SSL Offload

C. ADNS services

D. Rule or URL-based policies
E. Load balancing virtual server

F. Content switching virtual server
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Correct Answer: DEF

QUESTION 4

Which qualifier designates the source IP of the outgoing packet in a classic policy for NetScaler 9.27?
A. RES.HTTP

B. RES.SOURCEIP

C. RES.IP.SOURCEIP

D. RES.HTTP.HEADER

E. RES.HTTP.SOURCEIP

Correct Answer: C

QUESTION 5

When setting up a NetScaler system, an administrator can use the to set the nsroot password. (Choose
the correct option to complete the sentence.)

A. Setup Wizard

B. entity template

C. SSL VPN Wizard

D. passwd command

E. set nsroot user command

Correct Answer: A
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